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FTORS THAT MAY AFFECT EQUILBRIUM
) TEMPERATURE (effect depends on whether reaction is endothermic or exothermic
- Changes rate of reaction, too!
changes Kc

U
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OURLE = Oy 101 gds-pliasc 1edLuolls which have different numbers of moles of gds
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1ch side of the equilbrium. Otherwise, no effect.

. ho change of Kc

tate be reached faste
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LYSTS - do NOT affect equilibrium, but make the equilbrium s
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/, / Y (+£) N/ WV ot t ~ramnnocitinn. ~f
/ / N Mool Ul \JUIIIIJU vl T vl
RN )4 the equilibrium mixture
Lalhay g \/J

NI i \\

(@)

~

—]
L

l‘“ N: NN
1 1¢

D
@,
D
QO
t‘
T
w
o
—
-
QO
=
@)
=
w

hna
wlid 1V

A
o)
&
P

==

| ri H=N
IN — I\ Hieip

N_

qL

(@)
o
=

O
Jlibrium will shift to counteract a change in icentration of reactant or product.

*77 doesn't change Kc.




